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library(sas7bdat)
ds<-read.sas7bdat('baseball.sas7bdat’)
names(ds) # List of Variables in DS
ds$Bat_yr<-ds[,10]/ds[,9] #Rescale per Yr
ds$Hit_yr<-ds[,11]/ds[,9]
ds$HR_yr<-ds[,12]/ds[,9]
ds$Run_yr<-ds[,13]/ds[,9]
ds$RBI_yr<-ds[,14]/ds[,9]
ds$BB_yr<-ds[,15]/ds[,9]
ds0<-ds[,c(9,22,24:30)] #Anaysis ready
sum(as.numeric(is.na(ds0))) #check missing
ds00<-na.omit(ds0) #data cleansing
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http://wolfpack.hnu.ac.kr/Spring2018/sasheldata(baseball).pdf
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library(car)

scatterplotMatrix(data=ds00, ~Salary+Bat_y
r+Hit_yr+HR_yr, diag="hist')
scatterplotMatrix(data=ds00, ~Salary+Bat_y
r+Hit_yr+HR_yr, diag="'boxplot’)
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library(nortest)
ad.test(ds00$Salary)
shapiro.test(ds00$Salary)

> ad. test (ds00§Salary)
Anderson-Dar|ling normality test

data: ds00$Salary
A =9 3077, p-value < 2.2e-16

> shapiro. test (ds00§Salary)

Shapiro-Wilk normality test

data: ds00$Salary
W =0.85111, p-value = 3.307e-15


http://wolfpack.hnu.ac.kr/Stat_Notes/elem_stat/Stat_methods/data%EB%B3%80%ED%99%98.pdf
http://wolfpack.hnu.ac.kr/Stat_Notes/elem_stat/Stat_methods/data%EB%B3%80%ED%99%98.pdf
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2) Tukey Ladder of Power x’ = x*

® 22 X% 1 1 =2(x) < 3(x%)
L2 XE : 1 = 1/2(y/n),1/3(x"?),0(In(x))
shapiro.test(sqrt(ds00$Salary))
boxplot(sqrt(ds00$Salary))
shapiro.test(log(ds00$Salary))
boxplot(log(ds00$Salary))

library(rcompanion)
transformTukey(ds00$Salary)
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> shapiro. test (sqrt (ds00$8Salary))
Shapiro-Wilk normality test

data: sqrt(ds00$Salary)
W = 0.95398, p-value = 2. 174e-07

> shapiro. test (log (ds00$Salary))
Shapiro-Wilk normal ity test

data: log(ds00$Salary)
W =2097101, p-value = 3. 514e-05
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> transfbrmTukéy(dsOOSSaIary)

| ambda W Shapiro.p. value
407 0.15 0.9756 0.0001793

if (lambda > 0) [TRANS = x = |ambda)
if (lambda == 0) {TRANS = log(x)]}
if (lambda < 0) [TRANS = -1 * x ~ |ambda)

boxplot(ds00$Salary™0.15, main="Tukey
Power Trsnsformation")
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